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--"'-ind_ the Rank of the following matrix by_:aq:plying'talvz:mf.':ntz!wJ

i : 2
_;‘rrow transformation 3
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b Test for consistency and solve: x-+y+z=6 ; x-y+2z=5 ; 3x+y+z=8

__i:*Find the values of k such that the following matrix A may have
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rank equaltoa)3 b)2 A=[1 2 4 k
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that the following system of equations does not posse
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nk of a matrix : A=|2
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that the system of equation is consistent and hence ﬁnd
: Xtytz=4 : 2x+y-z=1; X-y+2z=2

_tigatc the values of A and u such that the system' of
ations x+y+z=6 ; x+2y+3z=10 ; x+2y+Az=p may have
) Unique solution (ii) Infinite solution (iii) No solution

- 2 OR
t|aFind the rank of a matrix :
[ 2 >
“'4._-0. ® ¢
B s 1

ﬁﬁnlve :Xty+z=-3 ;3xty-2z=2; 2x+4y+?z—’?.

{e(Test for consistency and solve
| | xt2y+3z=14
| Bx+3y+4z=21.
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